 GROUP 5 UNDERCARRIAGE

UNDERCARRIAGE MOUNTING

ADJUST COMPONENT

Swing bearing

Grease cover Cover

Idler
2

B 0000y il
S S
e
i
o o
o AT
g i
e 05
'l' 0
. Y 9
7 o
4 0/
e 0/
%
%
AT
q

Travel motor

Sprocket
2209A9CM08

- Tightening torque
ltem Size kgf - m Ibf - ft ltem Size kgf - m [bf - ft

1 | M10x1.5 6.9+14 49.9+101 6 | M20x25 57.9+538 419142

2 | M12x1.75 | 12.8+3.0 92.6+£21.7 7 | M20x2.5 57.9+6.0 419+46.3

3 | M12x1.25 15+0.5 108+3.6 8 | M20x2.5 57.9+8.7 419+62.9

4 | M16x2.0 20.7+3.0 215+21.7 9 | M20x25 78+8.0 564+57.9

5 | M16x2.0 20.7+45 215+32.5 - -




